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MATHEMATICS

By Pradeep Sir

2
Ql. A can do a work in 6 days while B can do

same work in 16 days. How long (in days) will
it take if they do the work together?

A U BT 6- e A &2 qda § wafd 8 38 &1 B

16> Rt A &2 awan ¢, At A Ao 38 1o B
fFaaRaAqisz SN2

(8)5-;

(D) s;—:



MATHCMATICS

ndoomrkhndoytondslnwdoyt

thoy work on it together for 10 doys
froctlonofwkhhﬂ?

US HTH B Adar ¢ 32 8 3A 90 &
mt af? 310 R & Bv v Ty S
&1 faen e ag9 Ao ?

OF

(0):



MATHEMATICS

Q3. A can complete a work in 20 days and B
can complete the same work in 25 days. If both
of them work together, then in 3 days what
percent of the total work will be completed?

A S H1d B 20 Ra A g1 S HdHar ¢ a2 8 3:H
&1d &1 25 & A qe1 S a®ar 21 af 2 A
& &2, @ 3 # g s @1 faen ufdera

& 21 81 AT ?

(A)9 ()12
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Q4. A can complete 50% of a jobin 9daysand B

can complete 25% of the job in 9 days if they
worked alone. If t worked together how

much of the job (in %) can they complete in 9
days ?

A 9 R & 50% a1 QR1 S AHar ¢ e e 9 Ral A
I BTA B 25% Y21 B THal §1 AR A 3FS 34FS

sHASEAtIgRAEMABASALANORAA
fasn &3 (% ) A aASarg ?

(B) 90
(D) 100




MATHEMATICS

Q5. Amar can complete a work in 7.5 days and
Raman can complete the same work in 12.5
days. If both of them work together, then in 4
days what percent of the total work will be

completed?

3oz ves Bl ) 7.5 e A g1 B F®wan § aen
mmmmtzsﬁaﬂiwuﬁmgmﬁ

A&l fAe®e 4 Ra o1d &2, @l & &1d &1
wfdera & ge1 8 Ao 2

(A) 82.5% (B) 80.1%

(©)75:5%




. MATHEMATICS bt
f=t_or 540 P <4 Q6. A can do 1/5th of a work in 4 days 1/6th of
the same work in 5 days. In how many days

—~ they can finish the work, if they work together?

L98 = - %523 3ed A fsaft ®ref @1 1/5at o1 4 Rl A Bz AwaT L, B
e 32ft v @1 1/6al a1 5 Rall A B2 a@ar 21 afe A
Lem -co | T T fAe® &1 &2 § Al 30 &1 &) aat

RefAgrszasal?

(8)20

oS (c)20 (D)15




MATHCMATICS By Pradesp Sic

Q7. M can complete 3/4 part of a work in 12
days and N can complete 2/7 part of the same
work in 8 days. In how many days will both
complete 11/14 part of the total work?

METSBIISI 34T RaASzaSaTIZ AN
mmw7maﬁaimm | ST
IC T T4 4

®11/14 o1 fbaat Rar A SN 2
(B)9

(D)6
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By Pradeep Sir

Q8. A can do 2/5 of a work in 12 days while B can
do ¢¢ %/ of the same work in 16 days. They

e work together for 10 days. B alone will complete
Es B - _%? 16 % QY4 2 the remaining work in:
. o A TS &1 & 2[5 a1 &1 12 Ral A, wrafd g 32
: Lem- 100 | BRI 5 amn ) 16 Rall A qz1 &2 F@ar 21310
I %Iv = 9q o Rell 7 ves A1 Rz B B2a 21 2 1 B 8
—— Wb fdaa fRat A
25 | mEReme
-, () 4 days
LR A

—_— (C) 8days OELNT
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By Pradeep Sir

Q9. A and B together do a job in 6.75 days and A
could do the job in 9 days if he worked alone.

How many days would B take to do the job if he
worked alone?

A 32 B fA@®e v &1 6.75 Ral A g &za ¥ 3z

A 3&S aft s 9 R A g1 s a@war 21 afk 8

mmﬁtgmma}zamqamim
?
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By Pradeep Sir

Q0. A and B can do a job in 10 days
respectively. They worked together for two
days, after which B was replaced by C and the
work was finished in the next three days. How
long will C along take to finish 60% of the job

?
A 312 B &1d &) HaHe: 10 32 5 5 A Sz FFa T
2 v @y fAe®e a® »1d ®a £, 3780
ARBF RAATZC dfafka A Aran

!lﬂiutczamzfmmmm
HeIM ?

(A) 30 days/R= (B) 25 days/fRa

(0) 24 days /R
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Qll. X can do a work in 3 days, Y does three
times the same work in 8 days, and Z does five
times the same work in 12 days. If they have to
work together for 6 hours in a day, then in how
much time can they complete the work?

xfFfisdslsRadAseasa, vyl &
et 975t ! 8 fRa1 A &2 Fwar 2 e z A A &

gig A & 12 Ra A &2 a@ar 21 afk 3 v Ty
nﬂﬂq:odtmm!.mmmwmw
mimﬁ‘mmmﬁn
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By Pradeep Sir
- A ! g =)
L g 3’ Q!Z.Aeondooworkln“%dcyt.acondoltln
2 1
16:daysand Dcandoitin33;daysand A, B, C
C - 8 - ’6—9’, and D together can do the work in 5 days. In

how many days C can do it?

3~ 2 - 333 (29, A 52t 1o B 14 a1 A 2 awar R g 320 F1a B

o A+ @ “F43252 w-ﬁaimmtmozdlmmss-n.a c

) iz D fReswe m1a B 5 Rl A B2 @wa 2, @t
@+ Lem= 1 on | YOO IA S B! fbaat Ral A 2o

o | oF

C- "%lf)j?g D | ()20 OL
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Q13. Sandeep do (L)th of work in 10 days, Kapil
can do 40% of in 15 days and Devkaran
can do (1/3)rd of work in 13 days and RajKumar
can do 37.5% of work in 17days. Who is less
efficient?

&g, 10 S & 11 &1 (L) o9 B2 TSar g, sfis
lsﬁa’fimmwxn‘%mtnﬁzmu
el & &1 &1 (1/3) o1 BT FHar 21 3R

17 3 & ST BT 37.5% A B FHAT 21 ATd B

P T TATASL?
A) Sa

’ ¥argn;caoooyv

D) Rajkumar Pe
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3 — @@ %;m > 30D

QM.AondBcondo-:-ofworklnlzdcys,sondc

- ngthosomoworklnwdoy:&c(md

= ‘@+-‘ —6'—‘:’0 9 60D eondo;—:inl:idoys.lnhowmonydcysA.B
and C can do this work together?

= /

Q — [Ch{A] - ‘;():'3-;30:0 AMRE AT 1A B - o1 12 Rar A &2
&®a 21 8 den ¢ fAewe 32l HTa1 716 5% 31710
5 < & A+8+C) lem= g6 fes A Bz @A 21 ¢ a1 A [RASHT T HTH BT —
P 31 13 Ra A B2 aFA 21 2 Al Re® ST B
WAl B A fbdan Harg S
JORS
i @ 800

Ry = (c) 36 Days (D) 20 Days
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By Pradeep Sir

QI15. A can do one-third of a work in 15 days. B
can do 75% of the same work in 18 days and C
can do the same work in 36 days. In how many

days will they olon_o_iﬂ\_”:_o_\mploto work?

A fbeft 1df & ves-fAerd &1 15 Ra A &2 asar 2
B 3t &1d & 75% a1 &1 18 R A 3tz ¢ 3t &
u\ssﬁa‘fﬂmmtliﬂa’fﬁmmu}
m&aam.

(A) 1—1211 days/fRai & (8) — doysm |

(€) ==" days/RelY ¥ |(0) " days/Rai A
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By Pradeep Sir

Q16. A and B can complete a task in 25 days. B
alone can complet 33§[of the same task in 15
days. In how many'days can A alone complete

2 th of the same tosl??@
15 2

v AR fft sd S s RaA sz awa i e
cE I | avmTawd ezl ). ssRasAguEe

< EHA ¢, A A B2 A HSST1 IA S1d B Al AT
A: 2=S 0 fsaat s A qzr 52om 2

—

/] = 157 (c)18 (D) 12
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Q17. Working together A, B and C can finish a
piece of work in 3 hours A finishes the same
work in 8 hours, B finishes it in 6 hours. How
long will it take for C alone to finish the same
work?

U J1 1A H2a ZC A, B 32 ¢ el srd & 3 62
A TNE HITAPAeIANDOI I BId B sHe A

AT Heal £, 32 B 34HS1IA 6 U2 A Jama Hear
2icIamd & fFaa
He A JATG HIN ?

(A) 2u hrfE2 (8) 15 hr/e2
(c)18 hrfu2 (D) 12 hrfu2




MATHCMATICS By Pradesp Sis

Q18. A can do a certain work in 15 days. B is 25%
more efficient than A. Both worked together for
4 days. C alone completed the remaining work

in 8 days. A, B and C together will complete the
same work in?

At ffasds s Rl A sz asartie, AR
25% 3f® Here 21 2eil & fAe®e 4 el as B
f&an c A 35S oy a1 8 o A gz fSan A,

R ¢ Aew: 330 &rd &) faa Ral A s 2
(A) 4 days/Ra E‘( 21 (8) 6; days/fest
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— A B
2= A L9 Taae : +:& Q19. A and B can complete a piece of work in 15

By Pradeep Sir

T 3 ‘& days and 10 days respectively. They got a
- =2 B8 - 10D E*)‘? 3 | contract to complete the work for 75000. The
i share of B (in) in the contracted money will be:

Lﬂz 30 I A 3 B faseht ®1er @) waer: 15 e 302 10 Raf A
&mmllwmu‘insmi FAS
It &1 (Higae) Aan & A B &H

fe=an (2 /) 2o

A +@-: 2'57

== 15000 | (A) 35,000 (8) 40,000

A 5
X 15000
&\sm (c) 45,000 (D) 30,000




s m MATHCMATICS By Pradesp Sk

Q20. A and B can complete a piece of work in
4.5 days and 9.9 days respectively, They got a
contract to complete the work for 80000. The
share of A (in) in the contracted money will be:

A 3012 B 5t &1 &) HaAen: 4.5 &1 3 9.9 RN &
¢ TPA £ US BT B! 2 80000 A @RI HA S
Jog ool (Higae) Ao & &t A A S

ez (z /) 2om:

(A) 2 45,000

(c) 240,000 (D) 235,000
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By Pradeep Sir

Q21. if A had worked alone he would have taken
63 hours to do the task, What is B's share, if A
ondamrktogothuonmnlnsc
hours and they get paid Rs 5,950 for it?

afe A A >SS S B 2T A I FH FeA S
f3v 63 42 San B &1 R &1 29N, 3PR A 3z B
TH T BIA 3eﬁtimmlaﬁz
3 fAU 5,950 SUT &1 oPTaTs fFaTATarg ?

(B) 3600

(D) 2750



MATHEMATICS

Q23. A can do a work in 8 days, B can do the
same work in 10 days and C can do the same
work in 12 days. If all three of them do the same
work together and they are paid Rs 7400, then
what is the share (in Rs) of B?

AtE Bd B s RaAseasare, s 3@t srd®110
R & H2 Awar § o ¢ M wd B 12 Ra A &2
TF&ear 21 af? & fia 38 &l &) Ty A RAes: Ha
zang;uooaﬁum&a’tsmﬁm(ai)

D) 2000

?; 3000
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J o -—9A o B 4 lloa'rS

x- & = 8 | Q24. A, B and C individually can finish a work in
6, 8 and 15 hours respectively. They started the
2 - 1% bowss work together and after completing the work
= got Rs.94.60 in all. When they divide the money
LEm= | Qo among themselves, A, B and C will respectively
get (inRs.)
32!4?}0 A, B 3% c 3@ et H1a1 &Y w2 6, 8 3 15
A _ - X0 3y, Hel 3 g1 ¢ Awa 81 Aaft & ves e w1 2 fan
43 312 HTA HATE 14 U2 Io¢ 2 94.60 fAS Ta sual
. 22 &1 fRanfAa farwmA at A, B, ¢ &1 Rz Farsi
B —» w=r> 233

(a) 44, 33,17.60 H 43,27.20,24.40
c) 45, 30, 19.60 d

42,28,24.60
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LCN\ = 1R
454 20
"?—st"

By Pradeep Sir

Q27. Working alone A can do the task in 27
hours and B can do it in 54 hours. Find C's share
(in Rs) if A, B and C get paid Rs 4,320.20 for
completing a task in 12 hours on which they
worked together.

HHS B Hed EC A 27 5 A BT &1 GR1 B ABdl
¢ 32 B & 54 42 A B¢ AGal g1 ¢ B fF&n &=
gluﬁn.aaﬁzcmtzﬁ%immgamt

4,320.20 &. BT 3TaTl fAar g, A w2 3ia
TS H1Y ST fasar

{a; 960.06

C)1920.06 D) 1280.06
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By Pradeep Sir
8
] 2 Q28. Sandy and Mandy do (8/13)th part of a
work and the rest of the work was completed
by Andy. If Sandy, Mandy and Andy take the
e c same work for Rs 2626, then what is the share
13 BT (in Rs) of Andy?
At aen At ves &d &1 (8/13) di AT B PRI Head
865 !amahmzfﬂ‘ﬂtmga wrar 21 afe &
96625 HA aen 08 3t B I 2626 & A 3d £, A O
7\% &1 2z (&. ) faan gen 2

(0] o 531:&0
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By Pradeep Sir

Q30. Amir and Akbar can finish a task in 30
days and 15 days respectively. Akbar worked
on the task for 8 days and left the job. In how
many days can Amir alone finish the
remaining work?

AT 302 Ipaz v oA B2 30 312 15 R A
¢ ADA £ ABaC A 8 2 a5 28 W HTA HA
are &1d B3 f2an ardt a1 &rd &1 snfae fFaa

RefAqr sz asarg?

(A)14 days/ fRs1 (B) 15 days/ 3=t

(c)16 days/ st (D) 17 days/ a1



MATHEMATICS

Q31. A can complete some work in 35 days and
B can complete the same work in 15 days. They
worked together for 8 days, then B left the
work. In how many days will A alone complete
60% of the remaining work?

A, et &rdf &Y 35 Ra1 A sz a®ar £ 3 8 3
&1 1 15 a1 A Q1 B2 FA®BaT 21 Isglal v T 8
fRar a& &1 &g, 389 a2 8 & &1 Bz f2amn

S A 29 B B 60% W1 B fbaat a1 & gar

HeIN ?

glo
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By Pradeep Sir

Q32. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A @21 B TS BT & fAw®e 20 fRat A g1 B2 d&d
£1 3 vs T ST Bee e Hed § ueq 4 Ral &

are A &1 813 2a1 21 2 BT B ST 24 AfARE
feal & g1 ®ean 21 A ol &rd &) wde fFaa
Rt A g sz aSare ?

(c) 5 (o) 60
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Q33. A and B together can complete a work in

2
67 day. They started together but after 5 days A

left the work and the work is completed by B
after 6 more days. A alone can complete the
entire work in how many days?

A A1 B TS BT B fA®e 6- et A g1 &2 awa
213 vs A BT Heall HEH Head € ueq 5 Rall &

AR A B aa g aA Ay HA B HeA A
eﬁasﬁz:gratl A mwmma

Rt A sz adar ?

(a) = (8) =)

(€)= (D)=
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Q34. A and B together can complete a work in
20 days. They started together but after 4 days
A left the work. The remaining work was
completed by B alone in 24 more days. In how
many days can A complete the entire work
alone?

A @21 B TS BT & fAw®e 20 fRat A g1 B2 d&d
£1 3 vs T ST Bee e Hed § ueq 4 Ral &

are A &1 813 2a1 21 2 BT B ST 24 AfARE
feal & g1 ®ean 21 A ol &rd &) wde fFaa
Rt A g sz aSare ?

(A)75 (B) 25

(c)4s (D) 60




MATHECMATICS

Q35. A, Band C, alone can do a piece of work in
9, 12 and 18 days respectively. They all started
the work together, but A left after 3 days. In
how many days, was the remaining work
completed?

A, B 32 ¢ 3> ft &rd & Haver: 9, 12 312 18
g‘: féﬂ:mmtlmmﬂammm

A
& T2 A A B oI Ran e s
faat i'ﬂ -

()2 OF

©%

qofgan?
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Q36. A and B together can do a piece of work in

10 days. B and C together can do it in 15 days
while C and A together can do it in 20 days.
They work together for 8 days and A & B left the
T work. C alone will complete the remaining
m=go

work in:

-52
> Spar- TP A 312 B e et &1a1 &1 10 el A &2 a®a )
R—-8 B 312 c fAe®e 32t &1 3 15 Ral A &2 a®a
L@: . 5 Hafd c iR Afose3d 20 R A sz asa g1a
Hr8 = H2 Toft 8 RS a ve A1 BT B £ TATIHS AT A
m—" maggmaamzucmmmm

?

Cs 88, )45 N —

OF — (A) 12days (), 3% days

()t cays

1233 F(CA+B+C)
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Q37. A can do 20% of a work in 4 days, B can do
33% of the same work in 10 days. 3 They worked

together for 9 days. C completed the
remaining work in 6 days. B and C together will
complete 75% of the same work in:

A faseft &1 &1 20%, 4 Rat A qe1 B2 Awar 2, B 3
@3, oA A seasadidofRa s

fBv v ane & Bea 21 ¢ du BT B 6 et A @
®edl 21 B 32 ¢ ve Iy 3t arf &1 75% fFaa
R A gz &2

(A) 12days/ s (B) 15 days/ =1
(c)10days/ 3=t (D) 9 days/ &=
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By Pradeep Sir

Q38. A, B and C can do a job working alone in
H -8 » 353 50, 75 and 20 days respectively. They all work
together for 4 days, then C quits. How many
days will A and B take to finish the rest of the
job?

A, B A1 C IS BT Hea ge fdzlt H1a1 ) waer:

'5'—‘)(% X0D

A5 % U 50, 75 312 20 fRa & g1 He¢ S &1 A Haft oz =
TS H1 BTA Hed ¢ a2 fhe ¢ S B 2a1 g1 a2

= (00

FCHA B ATAB B Rt A I B3N 2

R —
A+e- i\a' (B) 30

(D) 24
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Q39. A, B and C can do a job in 6 days, 12 days

and 15 days respectively. After % of the work is

completed, C leaves the job. Rest of the work is
done by A and B together. Time taken to finish
the remaining work is

A, B 312 ¢ faaft &rd &) waver: 6 @&, 12 R 3z 15
RadAquesrasddl-sdS RHAARS AR C

SO a2 A B A e B g1 Hea
2l &Td Y21 Heat A fbdet HAA SIN ?

(a) 5; Days (8) 6;Days

(C) 3;Days (D) 3; Days
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By Pradeep Sir

Q40. 3 men A, B and C can complete the work
in 10, 12 and 15 days. A, B, C start work together
but A left the work after two days. and B left the
work 1 day before the completion of the work.
In how much time the whole work will be
completed?

3 3meat A, B 32 ¢ et &1a &Y S 10, 12 311215
ﬁaimmtliﬂaﬁmﬁmmmx

®ed Ra Blg®e
v S T At o o 2 1

B T A A fBaann T SN ?

()2

(c)e (D) 5






MATHEMATICS o el
99 - A — | ;ll— D > J)

q Q41. 3 men A, B and C can complete the work in

g ll%, 9& and 11 days. A, B, C starts work together,

1-8 — 9 7 ; A and B left the work 2 days before the

completion of the work, then the whole work
00 ¢ — D =T e | will be finished in how many days?

3MA,B3MCMWETW2I:“%,3M9%
|, fRer & e awa g1 dta & Ty fAo®He dA

(1o
(A +8)xa " ,1,:) Heal 2 a5l A 312 B & &1 T gt & 2 fAa
(49 +)a) )xe T UES BIA Heon BIg 3, at aansi ger e fbaa
o RadAa=igan?
o T
ﬁ%av’ (A) 3 (8) 47
b= 1] (c)s (0)7
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By Pradeep Sir

Q42. A, B and C can complete a work in 8, 16
and 24 days respectively. They start the work
together and A works till last moment. If C
leaves the work 2 days before and B leaves one
day before the completion of the work, in how

many days the work will be finished?

A, B a1 ¢ fbft &1 St HH2: 8, 16 daT 24 RA A
AT B2 TAda g1 dial Ty RAase s 3

&2 £ dAT A ed dF BT Hedl &1 C BIA T 2
A 2RAUES B BTHA TA 21 A v R g oA
Bi3 2a1 § al 9a¥d $o B fbaa e & Jema

g~

(A) 8 days/ o=t (B) 5 days/ a1

(c) 6 days/ fést (D) 7 days/ fRat
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Q44. A and B working separately can do a
piece of work in 10 days and 15 days
respectively. If they work on_alternate days

beginning with A, in how many days will the
work be completed?

A 3012 B f&5eft ST &Y 31591 391 warer: 10 fEat 3z
O 15 31 A q21 &2 I §1 Al A vaiae & & S

. | st & el o= ®ear &, @t &1
ot &aﬁﬁ;'l%ﬁggn? -

(A)8 (B) 6

(0)16




MATHEMATICS R

| 5 - A - C %@ = Q;O D
Q45. A and B separately can build a wall in 6§

130 B 8—}53 = Egza and Bédays, respectively. If they work for 1 day
- alternatively, starting with A, in how many

'
Alel glalald [em- joa | | days will the wall be built ?
A 3012 B 3 b feft fare &1 fAafor waver: 6

3z 8- et A Bz THa &1 A A 2= Hedh, AR A ardl-

TR A uds R s1d B2 £, At faa e A Aar
&1 faafor ge1 8 smean 2

(A) 7- Days (8) 12 Days

(D) 6; Days




MATHEMATICS Bt

Q46. Machines A and B always operate
independently and at their respective constant
rates. When working alone, Machine A canfilla
production lot in 3 hours, and Machine B can fill
the same lot in x hours. If A and B worked

alternatively, while each work for 1 hour at a
A B time, the total work gets completed in 4 hours.
What is the value of x ?

FHefts A a1 B Tada U A 3Yefl-3usit S arerar
T A &1d Hedt 81 Aefiet A 3FS 3 62 A &S Foa
KA ‘ ®e Al §1 den wefte B He B B! x e A Be
dxs¢=3% AHdl 1AM A dAT B HfAAs U A 1-1 G HA He al
\ BT 4 Hel & FATE g AN x BT ATel A

x=6 [ e

4

iA) 8

c)a
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Q47. Two women, Ganga and Saraswati,
working separately can mow; a field at 8 and 12
hrs respectively. If they work in stretches of
one hour alternately, Ganga beginning at 9
a.m., when will the mowing she finished?

3t ARSI I 3 FeEad! HSIT-HSI B BHedb
Bae Hael: 8 3R 12 42l & He Awdl 81 afe 3
iTE-a1dt @ UH-UH Hel Hid e dAT I 9 A
58 BICA 2[E He dl Heoll Hd ad HTd gl

A) 5:30 B) 6:30

D) 8:30

X — § — [ h~
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By Pradeep Sir

Q51. A, B and C working separately can do a
piece of work in 11 days, 20 days and 55 days
respectively. In how many days the work will
be completed if A is assisted by B and C on
alternate days?

A, B 3112 ¢ feft &1 &Y 3(S91-31a91 Hae: 11 2,
20 f2s1 312 55 a1 A B2 TAda | fhaa R A &

AT 21 AT, Af2 ATHIaE BAAB T C H AT
BIA e ?

(A) 2
(c)4




MATHEMATICS Bkl

Q53. A, B and C can do a piece of work in 10, 20
and 25 days. How much minimum time should
be required to complete this work if more than
two persons can not work in a day and in any
two consecutive days same pair can not work?

- A A, B 302 ¢ faseft @13t 1 10, 20 30k 25 e & T
Ac] ®ed £l 3 DA B TS BHeal A fbdell ogaidd
o - | @ | Tf2 ves e & 2 & e aufss &1 gl

& Aba dAT HATA oA 3l SInare et A & a1l
S HDA ?

-

(9) 63 days D) None of these
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By Pradeep Sir

Q54. P is 20% more efficient than Q. If Q alone
can finish a work in 10 days, then in how many
days P alone will finish the work?

;rgazox At Srdpers 2| 79 T f
amoﬁa’fa??laszmt.a’lpmm
&1d & fdaa s 3 rI eI 2

(B) 8.5

(D)12
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By Pradeep Sir

Q56. To do a certain work, the ratio of the
EFFi 1 @ &5 efficiencies of Aand B is 7: 5. Working together,

they can complete the same work in 17% days. A
alone will complete 60% of the same work in:

. $ 5 3 a1 fAfda & seat & Br A 3z B &t &1
s __x%\‘b'-xﬁ PerSdl &I 3UTd 7 : 5 &l TP T Aawe Sd
3 4/’;‘; ®ed ge, A 32 &l 1 17; Rar A g1 e Twa &
3>S A 32t BT B 60% fbaret 2 et A T oM 2

As 18P A (A) 16 days

(C) 21days D) 15days
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A B
. A Q57. A is 25% more efficient then B. A works for
v T IEr= L2y 'D' days and completed 1/ 3 of work and left the
e S5 | 4 i P11 work and Remaining work is completed by B in
= { 'D +12' day. In how many days A and B together
o ff can complete the work?
S*D | To A, B A 25 ufdera sfds Herm g, ABE s D Ra A
— s o -+ 8 Q '’ ? '
q(:n-.a?é& — = Hedl § 3T HIA B1 USH (dels Yel Hedl ¢ fbe s
Bl3 &4 81 29 &1 B, D12 f3a1 & g1 Hear g St
0= YD +4R  TRe fAowe RadAsARIscasat?
€D =UR i
2t L | W
3

(C)12days (») 12; days
A R
_!_i’ :
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Q58. B is 20% more efficient then A. B start work
and do x day and after then B replace A. A
complete the remain work in (x + 8) days. Ratio
of completed work by A and B is 3: 2
respectively. In how many days A and B
together complete the whole work?

a,Aazo%uﬂam;fceftlaamﬁan%muéx
Rl a& &1 fBan zad ae B it FA9E A B
@l SINM A & 219 &1 (x + 8) fEat & ggr fhan A

tza’smmmm 3:2¢81A 3B
aaL/ 30 1A B fhdal [eal A JATE Hel ?

(A) 13— day (:)) 12111- day
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Q59. P is four times as efficient as Q. P can

B W complete a work in 45 d?s less than Q. If both
_ of them work together, then in how many days

the work will be completed?

P &1 &A1 Q A TR I[ET 21 P U B Bl Heat A Q
& gre1 f3T e Fe7a & 45 a1 &a1 Sar 21 afk ai=t
fAo®e &1d ®ed € al &1l fbaet fAsi A RIZP 2

(A)10 (B)12

(c)1s5 (D) 30
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By Pradeep Sir

Q62. A is 1.5 times efficient than B therefore
takes 8 days less than B to complete a work. If
A and B work on alternate days and A works on
first day, then in how many days the work will
be completed ?

A, BR1LS 2 2, 33T ag vas & &t
a?mmmém £1 A dT B Udhide

uzmmiamAmaﬂﬂzﬁﬁami

al B fasaat faa A g1 2 wrean 2

(A7 ()19 |

(C)19.5 (D) 21
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By Pradeep Sir

Q68. If 8 men can do a piece of work in 14 days,
then in how much time (in days) will 7 men do

the same piece of work?

afe 8 Yoy fheft sraA S 14 Ra A RrHe adpa €, at
7 95y 381 &1 ol fdsdat era (31 A) e 2

(c)s (D) 20
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Q69. 38 men can complete a work by working 6
Hrs per day in 12 days then calculate in how
many days 51 men can do double of the work
by working 8 hrs per day?

38 313t 6 gve Ufdfea &1 Hedh fhat ST B 12
fest A @A Hea &1 A1d Hifare & 51 3mesft 8 gue
ufdfast BT Hedh I8 A e H1a fhaa 3a1 HN

(A) 56 days

(C)14days D)128/17 days
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Q70. 6 persons earn 8,400 in a week, if they
work 8 hours per day then how much amount
would be earned by 9 persons in a week if they
do the work 6 hours per day?

afe 6 aafss 8 He ufdfdst & Hed ufd T@E 2
8,400 3ifAd Hezad £, ot 9 Al grer 6 He ufdfes
&1 Bedh ufd Fang sifda &t Aret arest 2ifel gft-

A) 29,450 (B) 21,350

(c)Z9,000 (D) 27,200
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Q71. 40 persons can do a work in 15 days if they
work 8 hours per day, then in how many days
60 persons can complete the double work if
they work 4 hours per day? If the work done by
3 persons of first type in 2 hours is same as the
work done by 4 persons of the second type in 3

Uoxd x Bt VS vy ‘ hours.

L= gy o || 40 e, 8 GV2 ufafe B Bed v 1A B 15
ik | foer @t e @ &1 @ 60 3Teaft wfafeet 4 HUS Brar
Hed IAA SIeN B fdhdal fael A WA Hedl ? Al
Ugest Wbz & 3 3t 2 Hue I € HIe Hed &
foraen g 4 aufdh 3 ave A Hed 2

(A) 25 days (B) 30 days
(c) 80days (D) 35days
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— \-
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By Pradeep Sir

Q72. If 6 men and 8 women can do a piece of
work in 10 days; and 13 men and 24 women can
do the same work in 4 days, then what is the
ratio of daily work done by a man to that of a
woman?

af2 6 Gy 30 8 ARSIC ves &1 &1 10 fAat A
maa%ﬁmgmsﬂzu#%mﬂnﬂmg
4 f3s1 & qg1 B2 THaA ¢, A v fAa A v q&w gren

fébe I1e B &1 v a1 A v ARSI greT fbe e
BT A MU TATE ?
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By Pradeep Sir

Q73. 35 persons are engaged to complete a
work in 60 days. After 32 days it is observed
that only (2/5 th part of the work has been
done. The number of persons to be engaged to
complete the remaining work in the said
riod is

&d ® 60 A & T Headd & BT 35
Al adl I SINAT ATl ¢1 32 1Rl & d1¢ Ial aesdl
g & &1 &1 m(%jls)manwaﬁ &1 uT 2
2y &1 &l IH A QRT Heat f%c faat
fhal &1 ATdeadmar 2ft 2

(A) 20 G EL
(c)30 (D) 25
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Q74. 2 men can build a wall in 12 & 11 hrs
respectively but if they work together then
they use 300 less bricks per hour & build a wall
in 6 hrs. Find the no. of bricks in the wall.

41 31gSHt v diare &I HHel: 12 AT N1 HE H Fon
APd g1 Bfdsel o1d I el A1 HIA Hed &, al 300
3¢ Ufd T H3 I € 3T dlar St 6 6 A Fon
A I AR g A P del Ht AT ATa e ?

(A) 41526 B) 39600

(c) 25632 D) 42600
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Q75. 25 men can reap a field in 20 days. When
should 15 men leave the work, if the whole field

A

is to be reaped in 37% days after they leave the
work?

25 Tt T A &t 20 fa A &ild TAda &1 al A1 d
HIfAA 15 et fhaat 3at ar & 813 ¢ fd 33

a1e 2 3reeft QeI Aa 37, RA Awla 7 2

A) After 4 days (B) After 6 days

(D) After 3 days



MATHEMATICS A

Q76. 4 girls can do a piece of work in 8 days, 3
Unxg= 3L G boys can do the same piece of work in 2 days

and 5 women can do the same piece of work in

2BxR = €@ 4 days. Who is least efficient?
- 4 SfBAl B2 BIA 8 f3al A B¢ ADdl &, 3 Fsb
SN 2t 13 DY 2 R A He AFA £ 3i1e 5 AR 2

gmaﬁ4ﬁa‘fﬁqamamﬂ%’maﬂmze{aﬂa

(A) Boys | 5%
(c) Wwomen | AfEST D) Men [ Q&Y
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Q77. 20 men or 24 women can complete a piece
of work in 20 days. If 30 men and 112 women
under take to complete the work, the work will
be completed in:

20 USY AT 24 ARSI et & &t 20 Rt
HAT BHe APd &, dl 20 Y& dAT 12 31 &1 Fe,
dl &1 faat fRaH A T &9 2

(A) 3days (B) 42days
(C) 45days (D) 46 days




